Year 6 Autumn 2 Maths Activity Mat 5

What weight of rice will
each have in kilograms?

(4,8) (2,4).
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01 2 3 4 56 7 8 9 10

Section 1 Section 2 Section 3 Section 4
Use these clues to find the number: Calculate: A fitness gym has 2419 Calculate:
« It is between 1000 and 2000 members. There are 992 adult
« It is a multiple of 6. male and 1024 adult female 1. os
+  The hundreds and tens digits are 5 1 members? The remaining :
identical and add up to 10. « members are 16-17 years old.
How many members are 16- 7 + 5=
17 years old?
Section 5 Section 6 Section 7 Section 8
Write —— as Four friends buy a 5kg Draw a parallelogram on this a and b are whole numbers
a decimal bag of rice and divide it coorclinates1 g:’id using the coordinates: between 5 and 10. Write all
fraction. equally between them. (6,4) (8,8) the combinations showing the

possible values of a and b where:
a+b=14
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Year 6 Autumn 2 Maths Activity Mat 5 Answers

Section 1 Section 2 Section 3 Section 4
Use these clues to find the number: Calculate: A fitness gym has 2419 members. Calculate:
. There are 992 adult male and
’ :I :z :ermﬁ?pr:e]gfg and 2000 1024 adult female members? The
’ L 2 1 4 6 remaining members are 16-17 Yoo: 2= | 2
. Thi htljgdreds and tens digits are identical and add § 14 years old. How many members are 8
upto 1o 8 5 8 4 16-17 years old?
1 .
2 1 4 6 0 /o + 5= 1
300 4 4 10
1554 403
Section S Section 6 Section 7 Section 8
Wri'Fe % as a Four friends bug a okg bag Draw a parallelogram on this a and b are vyhole numbers petween
decimal fraction. of rice and divide it equ_allg coordinates grid using the coordinates: 5 anq 10. Write gll the combinations
between them. What weight 104 showing the possible values of a and
of rice will each have in (6,4)(838) 9 b where:
kilograms? (4,8) (2,4). 8
7 a+b=14
6
5
4
3 a=6,b=8;a=7,b=7;
2 a=8,b=6
1
1.25 1.25kg 0 .
01 2 3 4 5 6 7 8 9 10
W * twinkl.co.uk w




Year 6 Autumn 2 Maths Activity Mat 5

them. What weight of
rice will each have in
grams?

A

7(0,-6)

\

Section 1 Section 2 Section 3 Section &
Use these clues to find the number: Calculate: A fitness gym has 3097 Calculate:
«  The number has 6 digits. members. There are 797
+  The number is more than 800 000. adult male and 845 female 1. o4
+  5isafactor of the number. 5 4 9 full members. The remaining ’
«  The first 5 digits are all even. < 2 members are off peak
«  The hundreds and tens digits are the members. One third of the off $ + 5=
same and add up to a cube number. peak members are male. How
«  Theten thousands digit is three many of the off peak members
times the thousands digit. are female?
Section 5 Section 6 Section 7 Section 8
Write lTl as Eight friends buy an Write the missing coordinates for this a and b are whole numbers
a decimal 11kg bag of rice and parallelogram. between 5 and 10. Write all
fraction. divide it equally between (-1,5) (7,-5) the combinations showing the

possible values of a and b where:
2a + b =21

W**
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Year 6 Autumn 2 Maths Activity Mat 5 Answers

Write 18# as a
decimal fraction.

Eight friends buy an 11kg
bag of rice and divide it
equally between them. What
weight of rice will each have
in grams?

1.375

1375g

Write the missing coordinates for this

parallelogram.

4

A

(7,-5) b where:

2a+b=21

A

(-1,5)

/ (-8,-6)

(0,-6)
v

\

a=6,b=9a=7,b=7

Section 1 Section 2 Section 3 Section 4
Use these clues to find the number: Calculate: A fitness gym has 3097 members. Calculate:

The number has 6 digits There are 797 adult male and
) . : 845 female full members. The
. '5rhe n:cjm?er |s]ct[r;]ore thatr)\ 800 000. 5 4 9 6 remaining members are off peak Lo: 4= 1

Trlwse?’irzf SOL%HS :rzuarR e?/rén x 2 7 members. One third of the off peak 1
) o 3 8 4 7 2 members are male. How many of
’ Isioh:rlif:f\j;i;ns digits are the same and add 1. 0 9 9 2 0 the off peak members are female? 2 ~ 2

: 3 T 97 15

e The ten thousands digit is three times the thou- 114813192

sands digit.

862 445 970

Section 5 Section 6 Section 7 Section 8

a and b are whole numbers between
5 and 10. Write all the combinations
showing the possible values of a and

W**
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Year 6 Autumn 2 Maths Activity Mat 5

Section 1 Section 2 Section 3 Section 4
Use these clues to find the number: Find the r_niSSiflg A fitness gym has 4675 Complete
« This is a 7-digit number. numbers. i this members. 40% of the
o calculation.
« Thedigits all add up to 29. members are off peak 4 . 3. —
+  The hundred thousands, ten thousands members. Of the remaining W)
- 7 0(Je
and thousands digits are reversed to make full members, there are 45
.. x 4 [:] 5 . 4 = 5
the hundreds, tens and ones digits. s lel7lela more male members than 0 24
«  The tens digit is four times bigger female members. How many
than the hundreds digit é [5[5[5 éé full male members are there?
Section 5 Section 6 Section 7 Section 8
Write - as Rice is sold in 7kg bags. 3 friends Write possible coordinates for this a and b are whole numbers
a decimal want to buy bags of rice to share. parallelogram. 1 between 3 and 11. Write all
fraction, One friend wants at least 2.5kg, the combinations showing
rounding one wants half as much and the the possible values of a and
your answer other twice as much. How many / / b where:
to 2 decimal bags are needed and how much < > 3a+b=28
places. rice will each friend have if the / /
rice is divided in the proportions
they want?
\ 4
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Year 6 Autumn 2 Maths Activity Mat 5 Answers

Section 1 Section 2 Section 3 Section 4
Use these clues to find the number: Find the missing A fitness gym has 4675 members. Complete
o o numbers in this 40% of the members are off peak
* This ISa 7-digit number. calculation. members. Of the remaining full
e The digits all add up to 29. 4 4
« The hundred thousands, ten thousands and thou- members, there are 4> more male ER
o ' 7.0 9 6 members than female members.
sands digits are .re'versed to make the hundreds, How many full male members are
tens and ones digits. x 4 8 there? 5 : 4= 5
e The tens digit is four times bigger than the hun- 5 6 7 6 8 24
dreds digit. 2 8 3 8 4 0
4 6 0 8
7 641 146 1425
Section 5 Section 6 Section 7 Section 8

Write - as a
decimal fraction,
rounding your
answer to 2
decimal places.

3.33

Rice is sold in 7kg bags. 3
friends want to buy bags of
rice to share. One friend wants
at least 2.5kg, one wants half
as much and the other twice
as much. How many bags are
needed and how much rice will
each friend have if the rice is
divided in the proportions they
want?

Write possible coordinates for this

parallelogram.

_/

/

2 bags
2kg, 4kg and 8 kg

/

/

Various answers

\

a and b are whole numbers between
3 and 11. Write all the combinations
showing the possible values of a and

b where:

3a+b=28

a=6,b=10;a=7,b=7;a=8,b

=4
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